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The table - 4.4 represents l
. £ u .
equally efficient to produce 100 units of outp

Table-4.4

five different comb

Factor Units of | Units of
Combination | Labour | Capital
A l 20
B 2 16
C 3 13
D 4 11
E 5 10
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Fig.- 4.6

The Combination ‘A’, i.e., 1 unit of labour and 20 units of capital, is capable of producing
100 units of output. The combination ‘B’, i.e., 2 units of labour and 16 units of capital, is

also capable of producing 100 units of output; and so on. The isoquant or equal product
curve is shown here. ‘

In the diagram 1Q is the Isoquant representing a particular level of output, say, 100 units,

[t is downward slopping from left to right. It is convex to the origin. Isoquants can’t

intersect each other. An Isoquant can

't touch any axis. Always a higher level of Isoquant

represents a higher level of output in a map. An isoquant map is shown here
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1Q = 300
- 1Q =209
1Q = 199
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Fig.- 4.7 ‘Ln‘bour
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Theory of Production
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Increasing Returns to Scale

%

Capital
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Fig. - 4.14

The law of increasing returns to scale is said to present when the gap between successive

‘isoquants diminishes. It means to produce the same level of output, less and less of factors

w111 be requlred In the diagram, OA>AB>BC>CD, i.e., the gap is successwely declining.

Hence it represents the law of increasing returns to scale. Increasing returns to scale are due to

V(') indivisibilities of factors of production

(i) technical and managerial indivisibilities

- (i) greater p0551b111t1es of specialisation of labour and machinery -

@iv) external economies which are available to all the ﬁrms in the industry.

' Constant Returns to Scale :
" The law of constant returns to scale is said

to present when the gap between
successive isequaﬁts are equal-along the
scale line ‘OR’. Iri the diagram, OA=AB =
Bie= CD

It means equal doses of labour and capital

" are required to produce same amount of

output. In other words, the dlagram

‘represents the situation of constant returns

. to scale. Constant returns to scale are due

to the fact that -bg:_)}ond_ a certain point .

internal and external economics and
diseconomies are just equal.

.
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Ol . Fig. - 4.15
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